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CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
=31 5,210,607 5,210,607
& 1,319,148
= 3,891,459
=l Al A S J M X & 5,210,607 5,210,607
o= 1,319,148
= 3,891,459
WaAHy XS (stnaAXAHEH) 5,210,607 5,210,607
=} 1,319,148
= 3,891,459
nz4al AEH X 3,333,314 3,333,314
= 1,285,148
= 2,048,166
206 M = dl 3,333,314 3,333,314
= 1,285,148
= 2,048,166
01 X2 8| 3,333,314 3,333,314
m SXE 2Aa3A ASH XS
82,076,000& * 14 82,076
o 32,831
= 49,245
W E-Z-D-S4sD QA43TA AEH XY
2,769,457 ,000& = 1Al , 769,457
o ,107,783
= 661,674
W AHIZA ANE S X
481,781,000& = 14! 481,781
o 144 /534
= 337,247
XeEtH snga 4 ,050,000 1,050,000
206 M = 4l ,050,000 1,050,000
01 X2 bl ,050,000 1,050,000
W StmIA AZH I
50,000,000 * 14! 50,000
m sStpzga ATISH| 1,000,000,000& = 14! ,000,000
St gAlME 29 674,481 674,481
101 e1214| 195,081 195,081
04 J|12ZtHIZ22NEES 195,081 195,081
m SN AME 29 Q2| 195,081
[ORPIR=3=] 67,200 * 6H x 2482 99,994
® FXE 67,200 ~ 6H x H2L 20,967
® == 67,200 * 6H » 12¢ 4,839
® Al2tQl =%
8,400& * 10AI2F » 6 * 2= 26,208
® a2 100,000 * 6Y = 43| 2,400
® HEAMHZ 100,000 * 6Y « 23| 1,200
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m ZFHEA 150,000 = 12& 1,800
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m 2 ™Mel oHdl S
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05 QIZtRES 50,000 0 50,000
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50,000,000 * 14! 50,000
405 XHAHFIEHI 230,000 0 230,000
01 XAt 2 E F S| 230,000 0 230,000
m S XE 2 25,000,000& * 8CH 200,000
m 2AEH S ARIJ| 7Y
20,000,000& * 14! 20,000
W HAMOT S JHPE 7Y
10,000,000& = 1A 10,000
waAHE X 133,312 0 133,312
& 34,000
= 99,312
201 et d| 20,000 0 20,000
= 10,000
iy 10,000
01 AR 22l ] 20,000 0 20,000
m SN AXILMEH 29 2435 NS
20,000,000 = 14l 20,000
o=} 10,000
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